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10NaN, + 2KNO, —K,0 +
5Na,0 + 16N, 1 .

1.75 mol ( ) o
A 40.0 L N,( )
B.  0.250 mol KNO,
C 1.25 mol
D N 3.75 mol
: NaN,
KNO, N,
(16 mol N, 15 mol 1 mol
) o 1.75 mol
N, 1. 75 mol x (16/14) =2 mol
44.8 L N,( ) 0.250 mol KNO,
: 1.25 mol; N
3.75 mol, 1 CDo
2 on 10 )
( ) o
A. ;
2Fe + 6H " =—=2Fe’" +3H, 1
B. CuSO0,
2Na + Cu’*=—=Cu | +2Na*
C. NaHCO, H,S0,
CO}” +2H"==H,0 +CO, 1
D. FeCl, Mg( OH) ,:
3Mg( OH) , +2Fe’"=—==Fe( OH) , +3Mg>"
i Fe + 2H" =—
Fe’* +H, 1; CuSO, :2Na + Cu’" +

2H,0 =——Cu( OH), | +2Na* +H, 1 ; NaHCO,
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Cco, 1. : Do
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A. 8g0, 4N,
B.1L0.1mole+L" N, NH;
C. 22.4 L N, HCI
D.1 mol Na Na, O, 2N,
8 g 0,
0.25 mol 0.25 mol x8 x2
=4 mol 4N, A ; NH, « H,0
1L0.1moleL"™
NH, N, B ; C
;1 mol Na Na, O, N,
D o CA.
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0. 1000 mol/L.  NaOH 20.00 mL
0. 1000 mol/L HX.HY.HZ

°© ( )o
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A.
‘HZ <HY <HX
B. K,(HY) =107’
C. HX.HY
NaOH HX (X)) >
ce(Y") >c(OH™) >¢(H™)
D.HY HZ c(H") =
KOHY = o(HY) | py eon)
e(Y7)
0. 1000 mol/L
HX.HY.HZ 0 pH
HZ HY HX THY >
HX, HZ
>HY>HX. B NaOH 10 mLL
c(HY) =¢(Y7) K,(HY) =c¢(H")
=10 =107, C NaOH HX
HY
NaY  NaX :HY > HX X~
Y- c(Y) >e(X7)D
‘HY HZ ‘e(HY) =
c(Y) +e(Z7) +¢(OH) HY
(K (HY) =c(H") +¢(Y") /c( HY) (YY) =
K,(HY) *c(HY) /e(H") c(H") =
K (HY) *c¢(HY) /e(H") +¢(Z7) +c¢(OH) o
:Bo
8 ( ) “
(1) o

0. 1000 mol/L

45
20.00 mL, 0. 05618 mol/L
_ ml( ) o
(2) 1:
1
Na, CO, NaHCO, NaCl
(kg) 814.8 400.3 97.3
2:
2
Na, CO, NaHCO, NaCl
( ke) 137.7 428.8 97.3
( 1 ) o
(3) 2
NaHCO, 428.8 kg
400.3 kg 1
. ( 1 ) o
(4)
452 kg
44.8 x 10°L( )
504 kg.
(1) 1 mol
2 mol 0. 1000 mol /L

x20.00 mL + 0. 05618 mol/L +2 =17. 80 mL.
(2)
814.8 kg —137.7 kg=677.1 kg
Na,CO, + CO, + H,0 = 2NaHCO,
NaHCO, 677. 1 kg + 106 g/mol x
84 g/mol x2 =1073. 14 kg
1073. 14 kg — ( 428. 8 kg -
400.3 kg) = 1044.6 kg. 56.
Na,CO, (428.8 kg —400.3 kg) +
(84 g/mol x2) %106 g/mol =17.98 kg
1 814.8 kg -
137.7 kg - 17.98 kg =659.1 kg, (4)

44.8 x 10°L 336 kg
Na,CO, 212 kg Na,C0,212 kg
NaHCO, 504 kg — 336 kg = 168 kg H,0 452 kg —
212 kg - 168 kg =72 kg
Na,CO,( 2 mol) NaHCO,(2 mol) H,O(4 mol)

NaHCO, = Na,CO, * 2H,0.
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